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Solve the following rugby union maths problems.

1. Leicester Tigers have one try, one conversion and
one drop goal. How many points do they have?

Prebilems

Try
Conversion
Penalty
Drop Goal

Scoring
5 points
2 points
3 points
3 points

2. Welford and the team have three tries, two conversions, one drop goal

and one penalty. How many points do they have?

3. Leicester Tigers have three tries, two conversions, a penalty and three

drop goals. Northampton Saints have scored four tries and four conversions.

Who has won the match?

4, Leicester Tigers have sixteen points. How might they have scored them?




